WIR Math 166-copyright Joe Kahlig, 10a

Solutions to Sample problems 2.
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Probability N R
60 | 60 | 60 | 60 | 60 | 60
Number
of Customers 6 7 8 91 10
10| 6 3 4 1
P ili — == | = | =
robability | &5 1 50 | 0 | 60 | 60

(b) see class notes.

Page 1

@ o

(e) 4.95

(f) MEAN= 4.95, MEDIAN = 5, MODE = 4
Since the data represents a sample:
VAR = 5.0652, ST. DEV = 2.2506

13. 3000

14. distribution table for part a.
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(a) $-2.22

(b) $6

(a) 0.6526

(b) 4.8

(c) 2.1014

(d) 4.416

under 9.1187 minutes or
under 9 minutes and 7 seconds

(a) .2437
(b) .003527
(c) about 97

.8186
A = 46.9892



